

A REFINEMENT OF AN INEQUALITY WITH RADICALS

Šefket Arslanagić
University of Sarajevo

Abstract. A new algebraic inequality with radicals is proposed in the paper. Its refinement is considered too. The arithmetic-geometric mean (AM-GM) inequality and the Cauchy-Buniakowsky-Schwarz (CBS) inequality are used in the proofs.

Keywords: inequality, refinement, radical, AN-GM inequality, CBS inequality, function, minimum.

1. Introduction.

The following algebraic inequality is discussed in the sequel:

$$(1) \quad \sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} < \sqrt{c(ab+1)+1},$$

where $a, b, c \in \mathbb{R}$ and $a, b, c \geq 1$. Four proofs are proposed of a refinement of the inequality (1), namely:

$$(2) \quad \sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} \leq \sqrt{c(ab+1)},$$

where $a, b, c \in \mathbb{R}$ and $a, b, c \geq 1$.

2. Proof of the inequality (1).

Consider the substitutions: $a-1=x^2$, $b-1=y^2$, $c-1=z^2$, $(x, y, z \geq 0)$. Now, the given inequality (1) becomes:

$$x + y + z < \sqrt{(z^2 + 1)(x^2 y^2 + x^2 + y^2 + 2)} + 1,$$

and from here after squaring and subtracting we get:

$$x^2 y^2 z^2 + x^2 z^2 + y^2 z^2 + x^2 y^2 + z^2 - 2xy - 2xz - 2yz + 3 > 0,$$

$$\text{or} \quad (xy-1)^2 + (yz-1)^2 + (xz-1)^2 + z^2(x^2 y^2 + 1) > 0.$$

This inequality is exact for all $x, y, z \geq 0$, which implies that the given inequality (1) is also exact for all $a, b \geq 1$. Thus, in (1) the strong inequality $<$ is valid. What does that mean? In any case this gives a possibility for the refinement of (1).

3. Refinement of the inequality (1).

We propose four proofs of the inequality (2), i.e. of the refinement of the given inequality (1).

Proof 1. We start by the obvious inequality:

$$\begin{aligned} & \left(\sqrt{x-1} \cdot \sqrt{y-1} - 1 \right)^2 \geq 0; \quad (x, y \geq 1), \\ \Leftrightarrow & (x-1)(y-1) - 2\sqrt{x-1} \cdot \sqrt{y-1} + 1 \geq 0, \\ \Leftrightarrow & xy - x - y - 2\sqrt{x-1} \cdot \sqrt{y-1} + 2 \geq 0, \\ \Leftrightarrow & xy \geq x - 1 + 2\sqrt{x-1} \cdot \sqrt{y-1} + y - 1, \end{aligned}$$

and from here we get

$$xy \geq \left(\sqrt{x-1} + \sqrt{y-1} \right)^2, \text{ i.e.}$$

$$(3) \quad \sqrt{xy} \geq \sqrt{x-1} + \sqrt{y-1},$$

where the equality holds true if

$$\sqrt{x-1} \cdot \sqrt{y-1} = 1, \text{ i.e. if } (x-1)(y-1) = 1.$$

From here

$$(4) \quad xy = x + y$$

Now, we get now from (3), that:

$$\sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} \leq \sqrt{ab} + \sqrt{c-1} = \sqrt{(ab+1)-1} + \sqrt{c-1} \stackrel{(3)}{\leq} \sqrt{c(ab+1)}, \text{ i.e.}$$

$$\sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} \leq \sqrt{c(ab+1)}, \text{ q.e.d.}$$

It follows from (4), that the equality holds true if

$$c(ab+1) = c + ab + 1 \Rightarrow abc = ab + 1.$$

Applying $ab = a + b$ and $abc = ab + 1$, we obtain:

$$(5) \quad c = \frac{ab+1}{ab} = 1 + \frac{1}{ab} = 1 + \frac{1}{a+b}.$$

Proof 2. Using the the substitution $a-1 = x^2$, $b-1 = y^2$, $c-1 = z^2$, $(x, y, z \geq 0)$ in the inequality (2), we obtain:

$$x + y + z \leq \sqrt{(z^2 + 1)(x^2 y^2 + x^2 + y^2 + 2)}$$

and after squaring and subtracting:

$$(*) \quad x^2 y^2 z^2 + x^2 y^2 + x^2 z^2 + y^2 z^2 + z^2 - 2xy - 2xz - 2yz + 2 \geq 0,$$

or

$$(6) \quad (x^2 y^2 + x^2 + y^2 + 1)z^2 - 2(x + y)z + x^2 y^2 - 2xy + 2 \geq 0.$$

We have, that $f(z) = \alpha z^2 + \beta z + \gamma \geq 0$ for all $z \in \mathbb{R}$ if $\alpha > 0$ and $D = \beta^2 - 4\alpha\gamma \leq 0$, $(\alpha, \beta, \gamma \in \mathbb{R})$. Consequently, the inequality (6) holds true if

$$\alpha = x^2 y^2 + x^2 + y^2 + 1 > 0 \text{ (which holds true obviously)}$$

and

$$D = 4 \left[(x + y)^2 - (x^2 y^2 + x^2 + y^2 + 1)(x^2 y^2 - 2xy + 2) \right] \leq 0$$

or

$$(7) \quad x^4 y^4 + x^4 y^2 + x^2 y^4 + 3x^2 y^2 + x^2 y^2 + 2 \geq 2x^3 y^3 + 2x^3 y + 2xy^3 + 4xy.$$

What remains is to prove the inequality (7). Applying the AM-GM inequality, we get:

$$\frac{x^4 y^4 + x^2 y^2}{2} \geq x^3 y^3, \quad \frac{x^4 y^2 + x^2}{2} \geq x^3 y, \quad \frac{x^2 y^4 + y^2}{2} \geq xy^3, \quad \frac{2x^2 y^2 + 2}{2} \geq 2xy,$$

and from here after addition and subtraction, we obtain the inequality (7). Because $\alpha > 0$ and $D = \beta^2 - 4\alpha\gamma \leq 0$, it follows, that the inequality (6) is correct, i.e. the given inequality (2) is valid.

Note, that the equality in (7) holds true iff AM = GM, i.e. $xy = 1$. This implies that $D = 0$ if:

$$\left(2 + x^2 + \frac{1}{x^2} \right) z^2 - 2 \left(x + \frac{1}{x} \right) z + 1 = 0,$$

$$\text{i.e.} \quad \left[\left(x + \frac{1}{x} \right) z - 1 \right]^2 = 0.$$

From here

$$z = \frac{1}{x + \frac{1}{x}} = \frac{x}{x^2 + 1}.$$

Taking into account, that $a - 1 = x^2$, $b - 1 = y^2 = \frac{1}{x^2}$, $c - 1 = z^2 = \frac{x^2}{(x^2 + 1)^2}$, we

conclude, that the equality in (2) holds true iff: $c = \frac{ab+1}{ab} = 1 + \frac{1}{ab} = 1 + \frac{1}{a+b}$, which is (5).

Remark. In this way we can prove the inequality (*) too: use the following form of (*):

$$(x^2y^2 - 2xy + 1) + (x^2z^2 + y^2z^2 + 1 - 2xz - 2yz) + x^2y^2z^2 + z^2 \geq 0,$$

or

$$(x^2y^2 - 2xy + 1) + (x^2z^2 + y^2z^2 + 1 - 2xz - 2yz + 2xyz^2) + (x^2y^2z^2 + z^2 - 2xyz^2) \geq 0,$$

i.e.

$$(**) \quad (xy - 1)^2 + (xz + zy - 1)^2 + z^2(xy - 1)^2 \geq 0.$$

The last inequality is true obviously. The equality in (**) holds when $xy - 1 = 0$ and $xz + zy - 1 = 0$, i.e. when $x^2y^2 = 1$ and $z^2(x^2 + y^2 + 2) = 1$, using the substitution:

$$c = \frac{ab+1}{ab} = 1 + \frac{1}{ab} = 1 + \frac{1}{a+b}.$$

Proof 3. We will apply again the substitution $a - 1 = x^2$, $b - 1 = y^2$, $c - 1 = z^2$, where $a, b, c \geq 1$, i.e. $x, y, z \geq 0$. Thus, the given inequality (2) becomes:

$$(8) \quad x + y + z \leq \sqrt{(z^2 + 1)[(x^2 + 1)(y^2 + 1) + 1]}.$$

The Cauchy-Buniakowsky-Schwarz inequality says for $n = 2$, that:

$$(a_1b_1 + a_2b_2)^2 \leq (a_1^2 + a_2^2)(b_1^2 + b_2^2); \quad (a_1, a_2, b_1, b_2 \in \mathbb{R}).$$

From here for $a_1 = x$, $b_1 = 1$, $a_2 = 1$, $b_2 = y$ we get:

$$(x \cdot 1 + 1 \cdot y)^2 \leq (x^2 + 1)(y^2 + 1), \text{ i.e.}$$

$$(9) \quad x + y \leq \sqrt{(x^2 + 1)(y^2 + 1)},$$

For $a_1 = z$, $b_1 = 1$, $a_2 = 1$, $b_2 = \sqrt{(x^2 + 1)(y^2 + 1)}$ applying the CBS inequality, we obtain:

$$z \cdot 1 + 1 \cdot \sqrt{(x^2 + 1)(y^2 + 1)} \leq \sqrt{(z^2 + 1)[1 + (x^2 + 1)(y^2 + 1)]}, \text{ i.e.}$$

$$(10) \quad z + \sqrt{(x^2+1)(y^2+1)} \leq \sqrt{(z^2+1)[1+(x^2+1)(y^2+1)]}.$$

After summing the inequalities (9) and (10), it follows that:

$$x + y + z \leq \sqrt{(z^2+1)[1+(x^2+1)(y^2+1)]},$$

i.e. the inequality (8) holds true. The equality in (8) holds true iff

$$\frac{a_1}{b_1} = \frac{a_2}{b_2} \Rightarrow \frac{x}{1} = \frac{y}{1} \Rightarrow xy = 1 \Rightarrow \sqrt{a-1} \cdot \sqrt{b-1} = 1 \Rightarrow (a-1)(b-1) = 1 \Rightarrow ab = a+b$$

and from here:

$$\begin{aligned} \frac{z}{1} &= \frac{1}{\sqrt{(x^2+1)(y^2+1)}} \Rightarrow z\sqrt{(x^2+1)(y^2+1)} = 1 \Rightarrow \\ &\Rightarrow z^2(x^2+1)(y^2+1) = 1 \Rightarrow ab(c-1) \Rightarrow abc = 1+ab \Rightarrow c = 1 + \frac{1}{ab}, \end{aligned}$$

i.e. $ab = a+b$ and $c = 1 + \frac{1}{ab}$, i.e. $a = 1+t$, $b = 1+\frac{1}{t}$ and $c = 1 + \frac{1}{ab}$; ($t > 0$).

Proof 4. We will assume, that a and b are constant, while c is one variable.

Consider the function $f : [1, +\infty) \rightarrow \mathbb{R}$, where

$$f(c) = \sqrt{c(ab+1)} - \sqrt{c-1} - \sqrt{a-1} - \sqrt{b-1}.$$

Because

$$f'(c) = \frac{\sqrt{ab+1}}{2\sqrt{c}} - \frac{1}{2\sqrt{c-1}},$$

it follows that

$$f'(c) = 0 \Rightarrow \sqrt{ab+1} \cdot \sqrt{c-1} = \sqrt{c} \Rightarrow (ab+1)(c-1) = c \Rightarrow abc - ab + c - 1 = c \Rightarrow c = 1 + \frac{1}{ab}.$$

From here

$$f''(c) = \frac{1}{4(c-1)\sqrt{c-1}} - \frac{\sqrt{ab+1}}{4c\sqrt{c}},$$

and

$$f''\left(1 + \frac{1}{ab}\right) = \frac{ab\sqrt{ab}}{4} - \frac{ab\sqrt{ab} \cdot \sqrt{ab+1}}{4(ab+1)\sqrt{ab+1}} = \frac{ab\sqrt{ab}}{4} \left(1 - \frac{1}{1+ab}\right) = \frac{a^2b^2\sqrt{ab}}{4(1+ab)} > 0,$$

Thus concluding, that the function $f(c)$ has minimum for $c = 1 + \frac{1}{ab}$. We have, that

$$f_{\min} = f\left(1 + \frac{1}{ab}\right) = \frac{ab+1}{\sqrt{ab}} - \frac{1}{\sqrt{ab}} - \sqrt{a-1} - \sqrt{b-1} = \sqrt{ab} - \sqrt{a-1} - \sqrt{b-1}.$$

Further:

$$\sqrt{ab} \geq \sqrt{a-1} + \sqrt{b-1} \Leftrightarrow ab \geq a+b-2+2\sqrt{(a-1)(b-1)} \Leftrightarrow$$

$$\Leftrightarrow (a-1)(b-1) - 2\sqrt{(a-1)(b-1)} + 1 \geq 0$$

$$\Leftrightarrow \left[\sqrt{(a-1)(b-1)} - 1\right]^2 \geq 0,$$

and we get

$$f_{\min} = f\left(1 + \frac{1}{ab}\right) \geq 0.$$

Finally:

$$f(c) \geq f_{\min} = f\left(1 + \frac{1}{ab}\right),$$

i.e.

$$\sqrt{a-1} + \sqrt{b-1} + \sqrt{c-1} \leq \sqrt{c(ab+1)},$$

q.e.d.

The equality holds iff $(a-1)(b-1)=1$, i.e. $b = \frac{a}{a-1}$ and $c = 1 + \frac{1}{ab} = \frac{a^2+a-1}{a^2}$, where $a > 1$.

REFERENCES

- Arslanagić, Š. (1966). Anwendungen bekannter Ungleichungen, *Wurzel (Jena)*, Vol. 30, No. 12, pp. 261 – 270.
- Arslanagić, Š. (1991). Dokazivanje nejednakosti pomoću metode supstitucije, *Matematika (Zagreb)*, Vol. 20, No. 3 – 4, pp. 84 – 90.
- Mitrinović, D. S. (1970). *Analytic inequalities*. Berlin-Heidelberg-New York: Springer-Verlag.
- Grozdev, S. (2005). *Preparation for European Kangaroo*. Sofia: UBM (ISBN 954-8880-20-2), 220 pages (in Bulgarian).

Grozdev, S. (2007). *For High Achievements in Mathematics. The Bulgarian Experience (Theory and Practice)*. Sofia: ADE. (ISBN 978-954-92139-1-1), 295 pages.

✉ **Prof. Dr. Šefket Arslanagić**
Faculty of Mathematics and Natural Sciences
University of Sarajevo
Sarajevo, Bosnia and Herzegovina
E-mail: asefket@pmf.unsa.ba